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1 These were the dynasties that ruled Rajasthan
(@) Guhilas Dynasty (b)  Guhilot Dynasty (¢ Parmar Dynasty
(¢)  Harihara Dynasty

(d)  Sinsinwar Dynasty
Choose the most appropriate answer from the options given below :
(a), (¢), (d) and () only © (@) (and (d) only

(&) (b, (<), (d)and (e) only ®)

) (c).(d)and (e) only (E) Question not attempted

T o YA g e 9

(a) TIfeeT TstEw ) e T T TERTSEd

@ TEAfETEaR e () LG RIEER] ’

9 frg e fawedt ¥ W walfies Suge S :

(&) ¥ (b), (), (d) 3R (e) ® e (), (0 (D) alit(e) © F(a) (b). () R(d)
(D) F (0), (d) SR (e) € A FH

2. “Typhoid Mary” nickname was givento:
© Mary Mascon

(A) Mary Mallon (B) Mary Cheng

(D) MaryKom () Questionnot attempted

‘erzIEs B’ ST =i fear T e

(A HE AN ® Hm © HEE
€ FTEEEA

(D) HIwHH

(o}

iterature and cultural activities flourished during the period

3.
\/-'Ifhe famous architect/ artisans of the time were: :
() KelSingh (c

(@) Padm Singh

(d)  Shilpi Karma ()  AmitSinghSuri

Choose the most appropriate answer from the options given'_‘ﬁfél_(_iw :
®) (a), (b),(c)and () only

(A)  (b),(c), (d)and () only
© (@) (c) (d)and(e)only

©) (a) (b) (c)and (d)only
(E) Questionnot attempted _
1302 CE) & &ra § Wifecd sk wiephi TfafarEl Befl-Tel, 3 9HE F WES

ﬁﬁsﬂqﬁmmfﬁgam
SRy FR : I
@ T ® e (@ et FaEm
@ focd w9 (@ o fie gl
ﬁ;}ﬁqﬂqﬁaﬁeﬁﬁﬂ'ﬂaﬁiﬁqwmﬁﬁ:

® F (), (b) () I ()

(), ¥ ), 0 IO
© @) O @O
® FEEET

D) I (a)} (b), ()3T (@)

ng constitute a food chain ?

Which of the followi .
(Choose the most appropriate option from below) S
o) Cas o (. Mo, Pl C L (C) Grass, Wheat and Mango
(D) Grass Goat and Human (E)  Questionnotattempted
fFrAferfad & | 1 TE sz <t Fmiol e § 7
(FrAd 8 ey Jaga fawcd o)
® e, T Sl @® O, o SR & ' ke
@ T g SR © oEra T
2
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.5~ Which of the following trees is the “Kalpavriksha of Thar” ?
(A)  Khejri tree (B) Mangotree ©  Gooler tree

(D)  Jamun tree (E)  Question notattempted
Frafafad § @ s @ s ' 9R 1 Feagy '’ €2

(A) TIFFT (B) SHEHTY © TR#HI
D) <A ®TS (E) 3TaRa yvd
6. Food cans are coated with Tin and not with Zinc because: -
o
(A)  Tin is less reactive than Zinc ) Tin has lower melting point than Zinc
: &P
(©  Tinis cheaper than Zinc (D)  Tinis more reactive than Zinc

(E)  Question notattempted

TTE 47 (Food cans)ﬁﬁmaﬁ%aﬁmﬁ?@ﬁﬁamm%ﬁ&:

(A T, e @ =0 franiar (B). ﬁq%r:ﬁmimﬁfa:aﬁwﬁmz}m%
© fo, fiw & T o ) o, fiw R siferes firamier &
(E) Fafawe

J/ The frequency of the alternating currentsupplied to houses in India is ;

WA H S H Sgfed w1 ST et weradt g wt emafa

(Choose the most appropriate option from below) veiin

(Fret 7 & watfres Swge fomed T3)

(A) 40 Hz ®) 100}_1; © 60Hz
(D) 50Hz (E) Queshodn notattempted /ﬁ%ﬁ'ﬂ BAE |

8. The Founding members of the NDB (New Development Bank) are:
(A)  Belgium, Russia, Indonesia, China and South Africa
(B)  Brazil, Russia, India, China and Singapore
(O  Brazil, Russia, India, China and South Africa
(D)  Brazil, Russia, Indonesia, China and South Africa

(E) Question not attempted

T €t &t (| TaeTHE S GE T8

(a) afesran, w4, $SAfvmET, 9 iR g s
(B) I, T, WG, 97 3R famg

(© HNid, T, W, =17 3R 3ferr st

(D) wSited, ¥4, $SMAfvE, = iR <famm atwta

(B) STIaRd oA

@ p-1/v13 3 P.T.O.
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‘9./

Match List-Iwith List-I1.

List-1I

List-I __

Type of Colloid Example
() Aerosol (i) Butte.r .
(b) Emulsion (i) ~Shaving
() Foam (i)  Mist
d Gel (iv) Facecream
eI 1 g1 9§ Ffer T :

LS g1

HIATS HARH TR
(@ WE@ (i) -qq@q
@ W i) R ()
@  (v) SRR e wiE

Choose the most appropriate answer from the options given below :

e fag e faeedt # @ waifew ST = :

@ @-G)0)-),0-0,@-@ B - ®)- ) - -0
© @-@),®)-) Q-6 @-6 ~ ©) @-6 0b)- ©- - -{v)
(E)  Question notattempted/ I "Hﬁ_

Human typhoid causing pathogen is known to generally enter the small intestine through :

(A) Air (B) Through used syringes (@] Contammated food and water

(D) Blood ()  Questionnotattempted

A4 TREES, Y1 HT e Y] Siel 31 H - ¥ g TS Al B )

(A) a9 ®  SwEmEH T i © i WIS SR

@ €

Which is not a clinical symptom for Turner syndrome ? i "I
(A)  Virtually no ovaries (B) Broad heal with round face (©  Webbed neck o
(D) Swollen hands and feet () Questionnotattempted '

TR faEm & fau =1 @1 it (I-Tfawgs) aem == § 2
(A), T HE WA TE @) e ¥R Y =G T

\ © SRR
D) ¥ LT IR (E) aﬂﬁﬁﬂm

e |

Mahatma Gandhi English Medium schools are runmng in the Rajasthan State from the session 2019-20. These
Schools are

(Choose the most appropnate option from belcm )
(A) GovernmentSchool (B) "~ Aided School

(D)  Public School (E) * Question notattempted (©  Private School
TSTer H Here it sl me faened w9 2019-20 | & fRY e A frawer %)
(=1 4 wraifues Suges faacd 99) e
i (B) e W foreem
© Tt foemem
() e forea ® e 9
- p-1/Y13 i
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13~ Select the microbes used as biofertilizers.

15.

17

(@)  Rhizobium and Azospirillum - () Azobacter

()  BlueGreen Algae (d)  Mycorrhiza and Acetobacteria
Choose the most appropriate answer from the options given below :

(A) (), (b),(c)and (d) B) (a),(c)and (d)only ©
(D) (a), (b)and (c) only (E)  Question not atte.mpted

St 3o & T H ST fey ST Aol geR Sfenpsii st =

(@) BT AR gofEgReT (b) TR

€/ R e (d) RIS SR TR
ﬁ%ﬁqmﬁmﬁﬁﬂwmmwgﬁ 5 £y

@) (@), ), ()3 ) & (a), (c) () ©
() = (a), (b) 3T (c) (€) S

Identify the non-metal which is lustrous.

(A) Iodine (B) Potassium ©
D) Phosphorous (E)  Question notattempted

SH UG I TR S THFIR S

a) SmEEE (B) URfEH ' ©
D HEERE ® sHaRa v

In case of twins in cattle ‘Free Martin’ is named for : ——_
(A)  Sterile male among the twins i.e. only male. - :':
(B)  Sterile female among the twinsi.e. only females,
(©  Sterile male among the twinsi.e. male and female.
(D) Sterile female among the twins i.e. male and female
()  Question notattempted

waAf¥rEl H St o=t & A §, (W mis wx@w%:
(4) Yedi o= d w6 (dtg) WA FEa T T
B) e T | wen (Ae) HR, st e HRIE.
© @mmﬁm(w)ﬂaﬂﬁmaﬂtm|
(D) Al T § e (Site) @, i R SR AR
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(b), (c) and (d) only

A (b), (c) R (d)

Fluorine

Baking powder

T IEet

() sgaiayH

Slaked lime reacts with chlorine to give:

(A) Washing soda (B) Commonsalt ©

(D) Bleaching powder (E)  Question notattempted

T G LA (RIS ) KA & T4 A FF AW cootchy D> CachAo
(A) = e (B)  HHRYI THEH - ©

D) =T 9EE (E) aﬁaﬁam

In Arid western Plain zone of Rajasthan which are the lllﬂJOl‘ Kharif crops sown ?

(A) Mustard and Gram (B)  Wheatand Gram

(D) Wheat, Mustard & Cuminseed (E)  Question niot attempted
ToTEH & b gyt #3r aﬁaﬂwﬂmaﬁﬁqﬁ’rg@xw@ 1 FT ST R ?

(A) T g (B) ﬂiaw Q =, Hs 7 fiw

O T @ g ®  eara v

W p.1/v13 5
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. = _gfr: 'n:
India’s southern most point, “Indira point™ 15 located i

@)
©)

Minicoi (8)  Nicobar

Andaman (F)  Question notattempted

TR B G <Rt faig S e el feerd @2

@)
)

frfrre @) - frEr
3feuH ) _ 3rgafa e

1_9/ Which of the following are properties or true about physical change ?

(@)
)
©
@

There can be a change in state or colour of the substance.
Itisanirreversible change. X
No new substance is formed during this change.

Conversion of water into steam is a physical change.

Choose the most appropriate answer from the options given below :

(&)
D)

(c)and (d) only (B) (a),(b)and (c) only
(b), (c) and (d) only (E)  Question notattempted

Frefafed 3 @ 9 F i wiads & S w@ S e 22

(@)

T % A e (R2) ¥ w8 Hend &

(b} & TH Sk gftedy §

©

wvﬁaﬂq%ﬁmﬁﬁwmﬁm

(dy I 9§ ager, T sifoes aiada 2
?ﬁﬁqmﬁmﬁﬁmwwaﬁ
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(© Lakshdweep

Q. T

©  (a)(c)and (d) only

© &ad (), (c) 3R (d)

© Indus Valley Civilization

© Ty 9@ gy

(@  BumDance

© =™

(4) % (c) ST (d) ® 5 (@), ()31 ()
(D)  Fa (b), (c) 3 (d) ® s

20, To which Civilization the civilisation of Kalibangan related ?
(A)  Mesopotamia Civilization (B)  Egyptian Civilization
(D)  Vaidic Civilization (E)  Question not attempted
FIAE F1 Fvga forg Foaan 4 wafer 22
(A) T e ®) - fire # g
O)  #feF T | ) s v

%V Which of the following Rajasthani folk danéé is ficrfnrmcd only by women ?
(A)  Chang Dance (B) _ Dandiya Dance
(D)  Ghudla Dance ® Queslmn not attempted
ﬁwﬁrf@aﬁﬁﬁqmwwquamﬂaﬁmﬁ e W wafela fara s 2
@) FT™ ®) sifem g™
O T ®  oTgufEwd

&R p-1/Y13 6
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22. ~ Match List-I with List-IL

List-II
List-I Bl
Prsoduct , " E;Ect
(@)  Blue pottery gems and jewellery i)
(b)  Granite/Marble (i) Kota
() Embroidery fabric (iii) Jaipur -
(d  Automobile parts (iv) Alwar
TE-1 &1 geit-11 & gafea st |
TE-1 Y™
@ TG FaE e emm @) eRER <
© e H FE (i) AR
d) ArEES sy (v) SR

Choose the most appropriate answer from the options given below :

T 1R T forpedi o & waifirs SIS T :

@ @), 0)-@),©- @@, @-0 @ (@- ) b)- () ©)- ) @ - i)
Q@ (@~ (i), (b)- (i), (©) - (ii), (d) - (iv) @) (@)- () (b)- (i), (c) - (iv), (d) - (i)
(E)  Questionnot attempted / TR 95

23, When the Matsya Union was merged with greater Ra]'a.stha::'i'i i@ho among the following became the first Chief

Minister of Rajasthan ? E= -

(A)  Prafull Kumar (B)  Hiren Chaudhary. (O HoriLal Sharma
(D) Hiralal Shastri (E)  Questionnot attempted

ST T T T e Tere™ F ferer gom, m%ﬁ@ﬁ@h@q%umwﬁaﬁwaﬁ?

(A) VI TR ®) o =l — O FHaa
(D) e Yt €)  FFuRa g

24¢ Inthe headlights of cars and scooters, are used as reflectors.

(A) Convexlens (B) Concavelens (©  Convex mirror
(D) Concave mirror : (E)  Question notattempted
FR AR FHR F 8¢ @2 (3wd) B A W e e w2
(A) Sua " (B) sEdw G © Sua dy
@ @ (B)  STIRRA v ,
25— Select those are mixtures from the following, i) _
(@ Iron (b) Coal (€  Seawater | (d)  Hydrochloric Acid
Choose the most appropriate answer from the options given below:
(A)  (b)and (c) only ® (Qonly . © (), (), (c)and (d)
@)  (a),(c)and (d) only (E)  Questionnotattempted
Frmiferfia & < fran & w71 g -
(a) e (3TEE) (b)  wIFen ) vgamm‘—ﬁ ) eI o
A fo e ferpedt & watforer Sugem sogd ; . -
(A)  FF (b) 3 (c) B) & () © @)@
(D) ¥ (a), (c) 3R () ®) ST v
| p.1/v13 7

P.T.O.
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i j i hich group of category A ?
As per States startup Ranking 2022 Rajasthan is placed under which group b cdtanes :

= (B)  Aspiring Leaders

7 Lead
((S)) Ts;v pir:forn-lcr ()  Question notattempted
' 1 ?

o 2T YT 2022 % STTAR TSTEI WY Ao A” o foR e H T T e
(a) isd @) i ey (Q F= TR
D) T TER (E)  STIare 9T

27.  1Kilowatthouris equalto: 4 . &

4 (A) 3.6 X10° Joule (B) 3.6 %105 Joule © 10°Joule B /
(D) 36000 Joule (E)  Question notattempted Lo..:. J()
1 feveirane ser aeR & - ok LW
(A)  3.6x10° 5@ B  3.6x105 5@ Q 103 S I
(D) 36000 & (B) HuRa g

% Which of the following is an indigenous milk breed of Buffalo ?
(A) Jamunapari (B) Murrah (O Jhakrana
(D) Beetal (E)  Questionnotattempted
frefafaa ¥ @ 3 @ Ja 9t wiw gum T &2
(4) ST ® e Q e
D) e E)  SIguRa g

\2} Given below are two statements : : j

Statement (I) : To solve the problem of soil erosion and floods caused by river Chambal Gandhi Sagardamin :

Mandsaur district of MP was bﬁ:ﬂit_‘m the first phase.
Statement (I):  Inthesecond phase Rana Pratap S;'gar Dam atRawatbhata in Chittorgarh district of Rajasthan
and in the 3'd phase Jawahar Sagar pick up Dam on the border of Kota, Bundi districts were

built. :
In the light of the above statements, choose the most__;;;[_)ropriate answer from the options given below.
(A)  Statement () is correct but Statement (II) is incorrect,
(B)  Statement (1) is incorrect but Statement (II) is correct.
(O  Both Statement (I) and Statement (IT) are correct.
(D)  Both Statement (I) and Statement (IT) are incorrect.

(E)  Question notattempted

e Wﬁﬁgﬁa@E'Wsﬂtwaﬁﬁw*wm*ﬁmwwwﬁmm%mmﬁ.i
M AR =iy & fmfor faan presg 1
FLA(II) : {@wﬁw%ﬁmﬁwﬁﬂﬁ%mﬁmﬁwmwﬁﬂaﬁtﬁﬁwﬁm AR |
a1 T STaE IR fawhstg iy e T ' A

SR i 3 e i et foae 1 0 watfd v ST
(A) 9T (1) 5 &, fag e (1) s &) ]

B HE (1) 51894 €, fopeg e (11) 9 &

© HE (1) ARFGT (1) < wq ¥

D) , FE (1) SRwLT (11) S s § |

B) ST
4 p-1/Y13

b o ) N
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30.  Select the correctly matched pairs of enzymes produced from microbes and their application ;
(@)  Amylase - Preparation of glucose syrup
(b)  Protease - Clarifying beer
() Pectinase - Digestive
(d)  Lipase- Clarifying fruitjuice
Choose the most appropriate answer from the options given below :

(A)  (b)and (d)only (B)  (c)and(d)only (© (a)and (b)only
(D) (a),(b)and (c) only (E)  Question notattempted

GeHsial SR 37 STIWANT A S USEHI w1 Wel gaferd et &1 =7 i
(@) RIS - oS faRg Y S (Preparation of glucose syrup)

(b) WIS - o w9 %3 =l (Clarifying beer)

(, U= - =

(d) Y - ell 1 T W HA el

A fRw T et # @ watfies sogea s -

@) Fa= o) 3R ® () 3R © % (a) AR (b)
©) ¥ (a), (b) (o) () T v

3}~ Which two countries in the world are major producer of silk ?
(A) Canada and India (B) China and India (©) China and Australia
(D) USA and Australia (B) Questionnotattempted
e 3 4 forem 3 for <1 2 & e or wpaifies sereed 2 &2
(A) HST AR R (B ?ﬂ'—m?rwna © = IR eATefaa
D) JTH TR sitefern ® aﬁﬁﬁﬂm

32. Whendid the barad peasant movement start? *__*

~ (A April 1922 (B) April1923 ©  April 1920

(D) April 1921 (E)  Question notattempted
e o <o % Y& geN ? - -
(A) T 1922 (B) 3T 1923 © e 1920
(D) 30 1921 (B) IgaRayH

Q';"'/ If ‘n’ number of resistances, each of value ‘r’ are connected in parallel, their equivalent resistance will be ;
N AR ‘n' dem F afatHl @, fH TdE H A o' € e HwE H Sen g o S ahged wiey g
i

‘>6— ™ (A n/r B, 1/nr @ nor

®) r/n (E)  Question notattempted/ CRIEGR

34, Ifthe currentflowing througha conductor fora fixe_;l time tis doubled, then the heat produced in the same interval
oftimetbecomes_____ ofits previous value,
(A) double (B)  threctimes (© half
(D) fourtimes (E)  Questignnotattempted
ﬂﬁﬁmﬁmqﬂﬁﬁaﬁmt%ﬁmwﬁaﬁﬁmw YR S S, S e b S
Wach s e @A A gl qc Q—t
Ay I ® I © smit
©) =R ) ST &

R p1/v13 9 P.T.O.
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L)
+

i ; i f weath
35, Which one of the following minerals is formed by decomposition of rocks, leaving a residual mass of weathered

ai)lteri‘a'ﬂlil‘:c (B)  Bauxite (© Gold

(O) Coal ()  Question notattempted : )
frefafas § ¥ S w wfs Tgrt  swed 3 a9 8, s st g mﬁwmm%
@ fw | (), - iRz © @

©) () aTaf ¥

fﬁ, Rahul conducts an experiment with a concave lens of f = 20 cm; If he placed the object of height 10 cm ata distance

of 30 cm from the optical centre of lens, where should the screen be placed from the optical centre to take the image
on the screen ?

(A)  The screen should be placed between 20 cm and 30 cm

(B)  Hewillnever be able to take the image on the screen, wherever the screen is placed.
(©  The screen should be placed at a distance less than 30 cm.

(D)  The screen should be placed ata distance more than 30 cm.
()  Question notattempted

t@af=20ﬁ.ﬁ.maﬁg%mwwmm%mﬁiagwﬁtﬁ.Eﬁrﬁaﬁa#mﬁm?ﬁﬁm@ﬁaﬁaj
wm%,ﬁﬁ&mﬁﬁaéﬁ%hﬁ@ﬁaﬁmﬁu%éﬁmﬁ@mmm?

(&) | TR A 20 A3, 3730 A, F ot @ R
®) TR HFE off W T vl wt o o R & R :

© TRH30 AH. | HH X R @ w2 T_,_.--

3} The iron pipes used in our homes to carry water are
(Choose the most appropriate option from below)
(A) Oiled (B) .--Cleaned ©

to prevent from rusting.

Galvanised
(D) Greased (E)-.. Question notattempted
aﬁﬁqﬁr%ﬁmmﬁmﬁrﬁmﬁ@%ﬁ;wﬁﬁhﬁaﬂﬁ%m Teman <mar 71
(7= 5 4 waiferes suge fase 99) =
&) T afm (B = e gy Q Trewrfiga
(D) TH wfya (B) STTuRa IwA
38.  According to census 2011 which of the following is the least urbanised District of Rajasthan State ?
7 (A) Jaipur (B)  Ajmer (© Dungarpur
(D) Kota (E)  Questionnotattempted
2011 1 SFTOA 3 STFAR 1 # & Tome w1 e et fen €
(4) g @) SR © IRE 1
D) @ (B),  3¥afa wem ’ P
3% Whenablue litmus is dipped in a solution it becomes red, its pH s likely to be : » t
1 A ferewa 1 Tl s A garn & @ aw e 6 S, s 6w () Wyem: g a7

- \
®, 5 ® 9 © 7 @;//
O) 10 (E) -~ Question not attempted / STafta wea
49./ Which of the following painters does not belong to Alwar school of painting ?

(A) Baldev () | Daluram (© Nanakram
(D) Jamnadas () Question notattempted

frefafad % & 2 1 et sraet @ fauem @ Hag 78 3 2

(A) @R B) <A © TFEww
D) A (B)  raft v

- p-1/Y13 .
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41 Match List-I with List-II.
g List-I List-1I
Ruler Duration
(@) RaoBika () 1526-1541 AD
()  Rao Lunakarna (i) 1465 -1540 AD
(©  RaoJaitsi (iii) 1541 -1574 AD
(d) RaoKalyanmal (iv) 1505 -1526 AD
Gei-1 1 geit-11 § gafea S :
-1 Tet-11
RULSED IEA Rl
@ TS () 1526-1541 AD ©
(RIS ETU (i)  1465-1540 AD®
(© & it (i) 15411574 ADD -
(d) T HIvHA (iv) 1505 -1526 AIXP)
Choose the most appropriate answer from the options given below :
T fRe T faaedt F @ watfies sage swogf
(&) (a)-(iv), (b)- (i), (c) - (iii), (d) - (i)

. ®) () (i), (b)- (i), () - (iv), (d) - (iii)
©  @-(), (b)-(ii), (9) - (iii), (d) - (iv)
5 @ (@)- (i), (b)- (iv), () - (i), (d) - (i)
:1 (E)  Question notattempted / 3R 9% —

| 42.  Which of the following is not a hybrid variety of Pearl Millet proposed by ICAR for Rajasthan?
' =1 F @ 1 it AR #t Ho IS ICAR gRI Tste 3 fer e =6 & 2

(A) HHB 67 (B) PEHM1 .- (© RHBI121
(D) RHB 127 (B)  Question notattempted / IFRRA 57
43.  In which fort do we find nine identical suites ? z
(A) Taragarh fort (B) Gagronfort . (©  Chittorgarh fort
(D) Nahargarh fort ()  Question notattempted
fora foret o & =it UoHEmE il %1 99E (identical suites) iR § 2
(A) G fen ®) TRA fHa © fediieTe faven
(13) evTe fhen () STufa e

44, Which of the following is not an example of a biomass energy source ?
(Choose the most appropriate option from below)

(A) Nuclear Energy B) Coal © Wood
(D) Gobar Gas (E)  Question notattempted
frafafaa ¥ & #19 W T S S w1 I TE ¥
(=1 9 4 waifires 3aga faswed 94)
(Ay" Ty 3 B) HEA e © &R
D) TERTE (B)  FTARAW

45, Which is not a major crop of Rajasthan ?
(A) Groundnut (B) Sugarcane - (© Millet
(D) Maize ) Question notattempted
I TSI H T HEE T ? -
() Tt (B, T - © T
©) (B)  STIRA WA |
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19.‘ Given below are two statements :

o 3

F

3 . = till continues to be the backbone of the state’s
I): A Iture and allied activities in Rajasthan, s : : 3 3
e cc%:-l::uy by contributing 28.95 percent in the state’s total GSVA in 2022-2023 at the current
rice, L % : ; ; Hvab
Statement (II) : Eajasthnn, being a state with diverse climatic conditions, is ach?'f.‘ly engaged li;t:f;zib:;?n :
of a variety of crops, supporting organic farming and holding strong an Ty 3
sector. . . . :
In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (1) is correct but Statement (I1) is incorrect.
(B)  Statement (1) is incorrect but Statement (II) is correct.
(©  Both Statement (I) and Statement (I1) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
Question not attempted

(E) ol

FE®M) : T T i AR Hefg iafafirt st off woa F sreferan # Gt w0 @€ ) T TR IR W
2022-2023 H T4 % Fa AW (GSVA) H 28.95 Wi &1 A fzan

YA (1) : Wﬁﬁquﬁﬁﬂhﬁmwﬁﬁﬁﬁawﬁaﬂ@ﬂﬁﬁm@ﬁﬁm%ﬁm
R &5 H Wioha wu Y ai gu E

Eﬂﬁmﬁ%m@mﬁﬁmﬁ@ﬁwﬁﬁﬁmmwgﬁ:

(&) =T (1) 99 8, o e (1) ot ¥

(B) =R (1) 379 B, fohg et (1) W B

@/ wat @) siRwe () A waE D

(D) e (1) R (1) 2 a7 &

() Iguiaws

L [

it

W TP P e

PEN, S5 Sy LT

i

47.  Asper Census, 2011, which of the following Iani;faaée isspoken highest (in%) in Rajasthan considering national
reference of the language for the given languages-only ?
(A) Punjabi (B)  Sindhi © Marathi
(D) Telugu . (E)  Question notattempted .
SO, 2011 % STFER, 7 syrneti © § sifae Wmmaﬁmﬁ%wmﬁwmﬁﬁmﬁ
AT AT 1 TG B | :
(A)  YemEr ®) fadt © e
©) ® oA
48.  Which industry is called the scasonal industry ?
¥ (Choose the most appropriate option from below)
(A)  GraniteIndustry (B)  SugarIndustry © Dairy Industry
(D)  OrnamentInd ustry (E) qustion notattempted :
fera eim =t et s w2
(Fr1 4 & wraifirer sugae fasey 99) S
(Ay e TEm @) = IEm © =7 wEm
(D) 39U & (£)  STIORE W
49.  Thefirst plant succession that occurs in aquatlc'éi}v?iromnent (Hydrosere) is :
(A)  Floating stage (B)  Reedswamp stage ©  Submerged stage
(D) Phytoplankton stage (E)  Question notattempted
STelTd YA (STeTher) § 9 are arey ST R WYH =1 §
(A) TETEE (B) TFE (77) MY T © P
(D) UIRY WIS = ) sraia WA
<
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-5{]/ Total number of ventricles of human brain:
| 7 o A % fem F g 9e

@ 6 ® 8 @, 2
() Question notattempted/T0E ¥&

51, Which of the following is not a start up in millet sector in Rajasthan ? '
4 (A) ACLfoods (B) Govindjee (© Milleys
(D) Pagarbook (E)  Question notattempted
71 F W TSI F A SN B R TR
(A)  ACLFH @ frst G e
(D) WIRgH () STdia 9
52, Milkisa:
3 (Choose the most appropriate option from below) -
(A)  Unstable colloidal solution (B) Colloidal solution and heterogeneous mixture
(©)  Solution of milk proteins (D)  Suspension and heterogeneous mixture
()  Question notattempted
WUH__ F
(Fr=1 o © watfires Sugea fawes 94)
. (A)  TEgfed wieizey faeaa B) SHiccee fOead iR faumirt fagor
3 © T4 W& & fago (D) Ticiam iR fawmi fagor
. (B IERauw ' :
: '3/ Which property of metals is used for making bells and strings of Musical h\struments ?
(A)  Sonority (B)  Ductility
(©  Malleability (D) Permeabﬂlty !
- (E)  Question notattempted
u@%ﬁaﬁ@ﬁ%m@mamwﬂawaﬁﬂhmm%?
(A) TR (FERE) ® w (sHad)
©  smEmEEHEa (Afaafafed) D). T (R
(13)] Sﬂﬂﬁﬁ oA
54 Which is the longest man made canal of India ?
(A) Indira Gandhi canal (B) Tejewala canal (©) Western Yamuna canal
(D)  Munak canal (E)  Questionnotattempted
W 1 e et A fAfifa T a2
() sfEu e TR (B) T T © et 7T TR
(D) TR () EfEye -
%< Who among the following built 84 Pillered Cenotaph in Rajasthan ?
(A)  RajaBeer Singh (B) Rao Bika Smgh (© Rao Raja Anirudh Singh
?. (D)  Raja Bar Singh (E) Question not attempted .
f; T H 84 Wi o Wk P A A R a0
L@ TwERfge ®) & i fig © & T s T
. O TErerfEe B AW

Wpr.1/v13 13 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

sy . t) reactions ?
56, Identify which of the following pairs will undergo chemical (displacement) A

(@) MgSO,+Fe (b) CuSO,+Pb (© CaSO4tFe
(d) ZnSO4 iy Mg (P) C“SS" i IAﬂ iven below :
emo iate answer from the options g :
;i-\l;ms?at)h(d) a::g;?f; S O(Bn) (a), (b) and (d) only (© (a)and(d)only
D) (b): (c) and (d) only (E) . Question not at.tcmp!cd
Freafefaa § 9 #17 § (faremm) g et sfulman 0 2
(@  MgSO,+Fe (b) CuSO4+Pb () CaSO,+Fe
(d) ZnSO;+Mg © CuSO;+Ag
e fw o faeredt § @ waifues sraem s
(&)< I (a), (d) 3R (e) ® Fad (a), (b) 3 (d) © Fad (a) 3R (d)
©)  F b), () M () B HRE v

How many princely states were included in the present day in Rajasthan ?
(Choose the most appropriate answer from the options given below )

(A) 15Statesand 9 Chiefships - (B) 19 States and 3 Chiefships

(© 452 States - (D) 35States

(E)  Question notattempted il
mﬁmﬁmwm@{;

(= fRe e foell 3 9 watferen g 9w g)

@) 15 77 31k 9 W S (@), 19T 33 wEd

© 452 T D) 357

E) gaRa e N

The Plateau which is the richest in minerals in India is:

(A) Deccan Plateau (B)  Chhota Nagpur Plateau (© Mysuru Plateau
(D) Malwa Plateau (E)  Questionnot attempted

I § Gl | waifus 996 eRem @ e ?

(A) TFFTFIYSR (B) IRIAMR SR © F@wr

(DY HIeEl 93R) ' (E) aﬂaﬁam

AsonJuly, 2024 there are memﬁer; as participants in the Special Drawmg Rights depa:tmént of th
International Monetary Fund (IMF). 3

Eﬁl?znzz;ﬁﬂmf@qgmaﬁq(IMF)ﬁﬁé%@afwﬁwﬁﬁmmﬁlﬁ%mﬁ T IR

(a) 202 ®) - A7 © 19
D) 187 (E) . Question notattempted/ TTE Wy
60— In which of the following area of Rajasthan_,' "Chlabi Gangaur” is celebrated on Chaitra Shukla Panchami ?
(A) Nathdwara (B) Bundi (©)  Pushkar
(D)  Ajmer (E)  Question notattempted
frefafea 4 4 fam A3 el T Sy e T S
(A) BT By, & O g
(D) IR €  SraRa v
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51/ ‘Karan Swiss’, a cross breed strain of cattle is developed by the following crossing :
' (Choose the most appropriate answer from the options given below)

(A)  Holstein - Friesian bulls with Tha rparkar cows

(B)  Brown-Swiss bull with Tharparkar cows

(©  Holstein-Friesian bulls with Sahiwal cows

(D) Brown-Swiss bull with Sahiwal Red Sindhi Cows
(E)  Question not attempted

‘Wm',mmmﬁmmmﬁmmﬁmm%?
(11 f3 e forareil & 4 watfiren soee 3 )

@A) BeEI-fRfaaT So ararE T

®), W-Fw e aramaR TR F @y

@ EewE-finfaar s e e ¥ @

O) T-REH S Wetare a1 et feisdt i 3 e

() 3guRaywm

Which was the first farmers movement of Rajasthan ?

(A) B?ar.al'pur Peasant Movement (B)  Marwar Peasant Movement

(©  Bijolia Peasant Movement (D)  BegunPeasantMovement

(E)  Question not attempted

TSTET <61 Teal o oo i o1 or ?

(A) TR fFE e=em © (B) TRETS fFOE e

© fosifermn fram s - (D) = fEEm e

(E) STI4Ra yed 7 e

Which of the following is not a Zooplankton ? .

(A)  Brachionus (B) . Cyclops’ (©  Lemna
(D)  Euglena (E)"_ Question notattempted

Frfeian 4 & =i w1 giforerss T 82 _

&) HfFEsiTE ®B) I © @@=
O) g (E).. STIaRd e

Select the region which does not have tropical forest in Rajasthan.

(A) Mount Abu (B) Bikaner . © Pali
(D)  Jodhpur (E)  Question notattempted

T H Iohfedeia o 7 8 aTd & =g H |

A) WEeag ) R © e
D) ST ! (B)  STHaRa W

A boy has difficulty in reading the blackboard while sitting in the last row in the class. He is suffering from which
defect of vision and what kind of lens can be used to improve defect ?

(A)  Hypermetropia, Concave lens (B)  Hypermetropia, Convex lens

(©  Myopia, Convex lens (D)  Myopia, Concave lens

(E)  Question not attempted 1Y
U g i, T o5 a1 onfad dfem 3 dam @ o wed § whend bt &) aw v gfe A dfea § sisd 9w
39T % forq 1A | <G 1 TE HE 03 ?

(A) TR, IEad o g (B TERIRI, 36 o =
Q@ Ay, Sua dd ' (D) I, stEae |
B)  oTaf g
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chemically combined with one anotherina fixed proportlonl?

66. Whatdo we get when two or more elements mg ; (© Mixture
4 (A) Compound ®) aRes, —
D) Liquids (1) Qucstmrt notattemp g ks
7 <) 7 3 el e e o f e w9 A g e A, E o
(A Aifrw ®
(D) w@ (E) mﬂ?ﬂiﬁ LS|
. -Chand Bardai was the court poet of which ruler ? . .
¥ (A}  Maharana Lakha () Maharana Kumbha (©). JaitraSingh
(D) Prithviraj IIT (E) Question notattempted
SR T [ W s w5 a2 .
(A)  WRRon awa (B)  RRION FET © “mfde
(0)/ YA I (E)  3Tguid 9¥
6§/ g Bhatiyani temple” is situated in which of the following places in Rajasthan ?
(A)  Bikaner (B) Bhilwara (©  Barmer
(D) Bharatpur (E)  Question notattempted
Toredr H TR fear AR frefata @ frg @ A Rea 32
A) d@ER ®) icETe © =R
D) wER (E) STmia u¥d
6% The Jawar/Zawar mines of Udaipur are famous for :
(A) Granite (B) Marble (© Bauxite
‘(D). Zinc _ (E)  Question notattempted
SR SR wH fes faw afag 2
@y T (B) A © e
Dy =% (B) ogufia vw=

70, Which of the following is not correct with respect to aerated drinks ?
< (Choose the most appropriate option from below)
(A)  They are liquid in gas solutions, (B)  They contain carbon dioxide in the form of solute.
(©)  They are gas in liquid solutions. (D)  Soda water is an aerated drink.
(E)  Question notattempted :

Frefafa 4 & @i aifra 37 (e féw) & ded § g i 2

(F=1 5 watfers sagam fame 74) '
(A) et faerma 4 & za g € (B) T T SRS forerr 6 w9 F vy
©' = faer F 4 g da ¥ D)y ‘HEl AR w af y E
)’ =afE g
7} - Coating of Chromium or Zinc on Iron protects it from rusting. This process is called :
£ (A), Galvanization (B)  Decantation © Oxidation
(D) Re_d“c“"’} (E)  Questionnot attempted
e RN e o v S e @ &) s o e &
Wy g ®) e ©  sitimm
O) g ' (B)  oTaf e
@ p1/Y13 16
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Which of the following Khyal has main characters called “Mediya” ?

(A)  Turra Kalangi Khyal (B)  JaipuriKhyal (© HelaKhyal

(D) Kanhaiya Khyal ()  Question notattempted

Frefefis el % A fira e 1 e af, *Afean” e 2

@A) T Fei e ®) “Egd e © e

@ ¥ e (E) oraia ve

The chemical formula of rustis:

EREIR G IECE e b

(A)  FeSO, (B), FeyO, © Fe

D) FeO (E) Question notattempted/ aqﬂ?iﬁ?l =

Which of the following Baori was constructed by Rani Nathavatiji, the younger queen of Maharao Raja Anirudh
Singh of Bundi ? =y

(A)  Raniji Ki Baori (B) Chand Baori (© Parcha Baori

(D)  Rajon KiBaoli (E)  Questionnotattempted
ﬁw%f@aﬁﬁﬁqﬁmﬁ%wwmﬁmﬁﬁﬁﬁﬂ, Tt Areperet it gr1 ST T eff 2
(&), T S =t e ®) =i I © ReErEmEE

(D) TSl <t =nefedt (B) i@y

. Given below are two statements :
Statement (I) : Alluvial soil is found in the North'
Alwar, Dholpur and Dausa.

Statement (II) : This soil contains enough quantity ¢ of rutrogen and lacks in lime, phosphorous and iron.
In the light of the above statements, choose the most appropnate answer from the options given below.
(4)  Statement (1) is correct but Statement (I} is incorrect.

(B)  Statement (I) is incorrect but Statement (I) is correct
(©  Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are mcorrect.
(E)  Question notattempted. _

o R E
FAA(M) : el (Tferet) TR T % Il IR R S e, overe, dierg siv Sk & e s 3

FE () : 79 YA H 9AT A AR B T I (), maﬂtm(@r@aﬁwm%i
WM%mﬁﬁﬂﬁf@aﬁWﬁﬁuﬂmmmgﬁ

(A)  ®HFF (I) 9 B, forg e (11) 3794 ¥
B) A (1) JTA &, frrg weA (1) T B
@ wgA (1) A HGT (1) TH A E |

@) wHA (1) eiawa (1) SHi s ¥

a.nd Eastern districts of Rajasthan like Hanumangarh,

B)  srgafa wm
% Balaghat mine is located in which of the following staté of India 7
(A)  Jharkhand (B) Bihar | (©)  Uttar Pradesh
(D) Madhya Pradesh (B)  Questionnotattempted
TTEE G FR WA & Frefatad § @ fra aer d srafem # 2
(B wrEs ®) fwr ©_ SWRW
D) #EwRY (B) qufawd
! P-1/Y13 17
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77 Select one of the following place of Rajasthan through which natural gas pipeline passes. ‘-.‘,-_ 3
Ei;wosl;:ht:;t‘:vr:;st appropriate option fr(al;; bd{:]‘:?\swam (© Ganganagar
(D) Bikaner (E)  Questionnotattem pted
e - R Rk S
(Firet 8 @ wratfires swgan famed T1) ' .
@ i vy ¢ e @ T i
() TR ® SEEEE s
78,  Kalitiger reserves is located in which of the following State of India ?
(A) Himachal Pradesh (B) Gujarat (@] Rajasthan 3
(D) Karnataka ()  Question notattempted :
mmawwﬁﬁmﬁf@aﬁﬁaﬁ?ﬁmﬁmﬁw%?
@) femre w=m B)/ TSRW © TEEH
©) e B) STIRRT I .:1

79 Aboy enters from sunlight to a dark room. What will happen to his eyes ?
(A) ~ Thesize of pupil will decrease and more light will enter his eyes.
(B)  The size of the pupil will increase and less light will enter his eyes.
The size of the pupil will decrease and less light will enter his eyes.

(D) Thesize of the pupil will increase and more light will enter his eyes.
(E) Questionnotattempted -

T e Y Y TF A FEH YOl § | SHH! @ W 2

(A) mﬁgﬁ&ﬁmmmﬁmﬁmﬁaﬁaﬁaﬁmmmmt
(B) ) GAC I AR A € G S TR v H B TR A
© S T 1 SR DI S S I THH S H A TH T |
(D) S AEA 1 ST TS R SO SR IHH siia & eiftres W T HM |

80:  According to Rajasthan Investment Promotion Scheme, 2022 which of the following statement is not correct ?
(A) Rajasthan is second position in medicinal and aromatic crops production.
(B) Rajasthan is second largest producer of oilseeds and coarse cereals.

(C) Rajasthanisone of the largest producer of mustard, bajra and corriander.
(D) Rajasthan on second position in milk production.

(F)  Question notattempted . }
e i e A, 2022 % SR frefafed § § B W w6 ©? _‘
(A) T st T i T 2 S H R W E :
B). Waﬁﬁaﬁﬁnmﬁwmwwﬁmw%l :
Q) TeTear wEE, a A v oh HaR gl S ¢ |
(©) T g e A gE T T e

(B) A e
81,, Which two countries carried out the 7! edition of the joint !l\illtitlry exercise ‘SHAKTI ? *
/ (A) India&UAE @) India & Russia_ (© India & France
India & Maldives ()  Questionnot attempted
fop 1 2 & TR A s afe’ 7 HER aynfera foan ?
A) TETEITE (B) TR T © RG T
O e () TG T

8
& p-1/Y13 1
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The ornament, ‘Chhel Kadi’ is worn by Rajasthani men in the

3 Hand
£ (A)  Fingers (B)  Feet 2 © e
(D) Ears (E) Question notattemp te
TTE G, ‘et sy, A e el ..
@A) St ® W © ™«
@) (E) STTAE T
Mehrangarh fort is located in : F
(A) Churu (B)  Bikaner ©  Ajmer
(D)  Jodhpur ()  Question notattempted
ATE el (BIS) Feera & AT
@) I¥ (B) HFR © R
(D), SR ® AT
»  What s the name of the cantonment where some of those Indian troops serving in the Company at Rajastt
mutinied on 28" May 1857 ?
(A)  Deesa (B) Narnaul \ (© Nasirabad
(D) Neemach (E) Question notattempted
wmwﬁ’rgm’rmmw%, forel it Yo i Fo vt Al 7 28 wE 1857 it fogie o a2
@A) @ B) - ©, TEER
© [ () SRURITE
% Landform surrounded by water on three sides is c;f]e__gl ' X
(A) Peninsula (B) Island--< (© Ocean
(D) Plateau (E)  Question notattempted
T AP S A W A S g A AR, A
(A}~ S ® = © R
O) R € AT
6~ Which of the following is an example of physical change ?
. (A)  Digestion of food (B) Formation of milk from curd
(©  Browning of apple after cutting (D)  Changing of water into steam
(E)  Question notattempted
- e e s sitferen wfterd= <wrian &2
L) s (B) T A gu

© % % 9% qa F U (D) R 1 o e

Annual Urs of Ajmer Sharif and Galiakot Pushkar fair are held in :

(A)  Sirohi (B)  Jodhpur ©  Ajmer
(D)  Jaisalmer (B)  Question notattempted

SR Y o anfiles o aiR nferarane gt e smef da R

@) foldH B) SIHRA @, FrRH
O SR ®  STgaRa s
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A
8.8// Given below are two statements : 1

Statement (I): The major sites of Sindhu Saraswati civilizations Harappa, Mohan-Zo-Daro, Bahavalpur aI'E"?
now in Pakistan.

Kalibanga, Rakhigadhi, Dholaveera, Ranopur and Lothal are in India.

In the light of the above statements, choose the most appropriate answer from the options given below,
(A)  Statement (I) is correct but Statement (11) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.
Both Statement (I) and Statement (I1) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Questionnotattempted.

AR ww R

wR(l): iy e g F T T T, Hed-si-gd 3 SRy 2 i A €
HUA(I) :  FcAa, TGS, S, T iR e 97§ )

STEH el F ol # Frefatan famedl 3 & et S0ge S0

(A) A (1) TF © fohg Tem (1) 3 2

(B),, THEA (1) 31HA ¢ fohg wem (1) T 2

© A (1) ARTHAA (1) A TA |

(D) HYA (1) SRFAA (1) AT 318 T4

() SHuidye|

Statement (11):

89) According to Economic Review (2023-24) how many government agriculture colleges are there in Rajasthan?

3Tfefer TS (2023-24) 3 STTHR TSTEAH o ﬁrﬂwaﬁu Y et ¥ 2

@) 49 B) 59r ©. 39

M 29 : & - ® Question not attempted / STTTRA I

90~ Ana Sagar lake is situated in which of the folli:‘iwnig placeé in Rajasthan ?
(A)  Udaipur City (B)  KotaCity (© JaipurCity
(D) AjmerCity (E) gﬁeéfﬁon notattempted
Trere i frefafaa § 9 R T W SR e fied 72
(B) TARIR ®) FRII © AR
(D) SRR B) SR

9.  How many startup are registered with Rajasthan governmentas on July 2024 ?
(A)  3500-5500 (B)  8000-9500 (©  Upto 1000 only
(D) 1000-2500 (E)  Questionnotattempted
TETE 2024 T TSI H T TRER o Wréer T Iefigd st F wem e A i
(A)  3500-5500 (B)  8000-9500 (© W™ 1000 7%
(D)~ 1000-2500 ®)  STafE

9% Which of the following dam was builtin Banswara ?
(A) KagdiPickup Dam (B) MejaDam (© KadanaDam
(D) Mahi Bajaj Sagar Dam B) Queglion notattempted
frpfafan 3 | % @ iy sfgarg # o T e
() FE fwe iy ®) WY © wErmay
(D), Tl SIS AR Y (E) STIRRa ¥

. 0
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/  Which is the ultimate source of energy ?
. Choose the most appropriate answer from the options given below :

4} . Srnjum (B)  Fossil Fuels © Water
5 (E)  Question notattempted

S T B w2

%mmmﬁwﬁﬁmwwqﬁm Y

- B) SEARAE © A
(D)/ ¥ (E) [ g™

% Select the incorrect statement from the following :
(A) Rana Pratap took shelter in Koliyari, a hilly town.
(B)  Haldighati is about 23 km North of Gogunda. ,

(©  Rani Padmini held the first Jauhar of Chittorgarh in 1303 AD.
(D)  Rana Hammir had retaken Chittorgarh in 1313 AD.
(E) Questionnot attempted

ﬁmﬁﬁmwwwaﬁi‘m:

(8)? T T 3 Bferardt e Terdt e  sngy fora
- ® Eﬁaﬁ‘ﬁﬁm@mﬁ.ﬁ.wﬁﬁmm%

- © ﬁﬂﬁm’rmﬁ?ﬁmmw%ﬂanmADﬁgam
D wgtﬁtm1313ADﬁﬁﬁ@1gw3=r:WW|

(B IguRayw )
/' Desert National Park is situated in which of the following States of India ? .
- (A) Madhya Pradesh (B) Haryana ~— (© Punjab
- (D) Rajasthan (E)  Question notattempted
' mﬁaw%mmﬁmmwm%g .
(A "AEWRW ®) =famn © U=
- (D) / TS ® SFAEwE
- Ganeshwar civilisation is situated on the banks of which river.?:
(A) Banas (B) Ahar (© Kothari
D) Kantli (E)  Questionnotattempted
TR Fer R T e W e 2
- (A) =™ B) &S © Few
._- (D)~ Faeit E) Gilﬂﬂﬁ?[ o
C Bharthari fair takes place in which place of Rajasthan ?
L (A Alwar (B)  Udaipur © Sikar
. O)  Bundi (E)  Questionnot attempted
| R e Troreerr # fo o W e g ?
(A IR (B) AR = © w
0) 5 ® SR e
g Which of the following medicines is used to relieve indi gestif)h E-rind heartburn ?
Antibiotics (B)  Antipyretics | . (©  Analgesic
®)  Antacids (E)  Question not attempted
Pttt & 4 i <itzan o SR & e & e ey 3 for sweivn 1 S 2
() darifen (B) TRy © <&
O srmee e (demfye) () gufaye
P-1/y13 21
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99/ Which of the following statements are true with respect to colloids ?
(a) Colloid is a homogeneous mixture.
(b)  Colloid particles can be individually seen by nake(! eye
(©  Colloid particles do notsettle down when left undllstu rbed ¢ ikl ding
(d)  Colloidal particles cannot be separated from the 11]1xtulr)c Iby the process 0 5
Choose the most appropriate answer from the options given below
(A)  (a)and(b) ®)  (b),(c)and (d) © (c)and(d)
(O) (@), (c)and (d) ()  Question notattempted
fFrefafad 3 | Hieiss F g § S F FF T E?
@y icigs UEw ww fago €
b) HiciEs ¥ i Fo, T QA 3@ SR
© fon fee Bt 3 W Hiaize F AW TR 95|
) FrarS Hi w1 o} geam, frefe (ffee0) wiw gr & e S e |
i TR o fasedl § @ waiferen Sugea ST < -

@) (@) 3Rp) ® () (3R © (93
® (@), (3R ® R T
109. Where is the headquarters of International Air Transport Association (IATA) ?
(A) Canada (B) Switzerland (© France
([_)) Germany () Question notattempted
ST ATy Ui T™ i qeAer Fel ¢ 2 .
(A), T @) o= © W™
©) SFE - ® SR
101/ Storing of lemon pickle should notbe done in wh:ich _fype ofjar?
(A) Aluminium jar (B) Porcelein jar (© Glassjar
(D) Plasticjar (E)  Question notattempted
forg R & o H 31 g % SR H W T FT Ao ?
(A). TG T (B) T = © wAFTH
(D) i &l add () SHAETH
102~ Half-life of Insulin in plasmais: “_T
(A) 45 minutes (B) 90 minutes (O 06 minutes
(D) 30 minutes () Question notattempted
e # dgfer w1 edery fae A €2
(A) , 45 T ® 9 fre © 06 fiFR
@) 30 faFe € STIERA T

103. Three Resistances of different values ry, r, and r; are connected in parallel and are connected with anele
source. Then, in each resistor ry, ryand r3 :
(A) Current will be the same but potential difference will be different.
(B)  Potential difference will be the same but current will be different.
(©  Currentand potential difference will be the same.
(D) Currentand potential difference will be different.
(E)  Question notattempted

M- 31em i g A AN 1y, rp SR ry WA T S 5 IR G faem wa Q S < €

BIRORE] Iy, Iy 3 r3£f: ) \ \\Q") & (,\"'/\
(A) T we g e favaia A e oy X v g‘#‘ & Fgaz\
o favarm o g afe ura fis g e ';;é\\ g‘*ﬁocy
© MW SR favaiad @AM B | il {;;.J" 2

(D) T iR Favatee foet S 3

(E) aqﬁaii:am

&R p-1/Y13 22


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

104, Who started “Kuchamani Khyal” ?
(A) Lachhi Ram

(D)  Shah Alj

" Emio T R W i 2
@y ==t T

(B)  Phool Ji Bhatt (© NanuRam
(B)  Question notattempted

B) el S 9 © T\
(D) e 3r € oW

. A wire of given material

has length L and area of cross-section A. Tts resistance is 4 ). How will its resistivity be
affected if its length and

area both become 2L and 2A, respectively ?
(A)  Itwillbecome 1/4 of its present value -

(B)  Itwill remain the same as its present value
(©  Itwillbecome 4 times its present value

(D)  Itwill become twice its present value

(E)  Question not attempted

mmwﬁ%@maﬂmﬁmemeA © | SR AR 4 O ¥ 147 38 o o e
A A 2me€rmi?hwaﬁqmmmmwwﬁw%m?

(A)  FE YA T H 1/4 B SR A\-

® 7w e (F Radt 7 G v

. (O T4 TR S
D) % 2 T 2 St
® A

According to population projections by Ministry of Health ana-'Fzmily Welfare,

Government of India the projected
- Population of Rajasthan in 2011 was : _
L (&) 685Crore (B) 17.01Crore ©  121.09Crore
- (D)  8.19Crore (E)  Question notattempted
' A UH Yftan Fearor WA, M TR SER TSR H SEE 2011 H STt of
b () 685 7e B 1701 %5 © 12100 wirg

b

- 0) 819 FHE ®) SR

B
[

& The malaria parasite stage that can be found in the salivary gla_mls of female Anopheles mosquito is :
'; (A) Sporozoites (B) Sporophytes h)

D) Cysts () Question notatternpted
‘Tﬂfrmqrsﬁaﬂw Sl A1 T erter Wt i @ i e St w8

by

@) =R ®), wEEE () (©  iemEe (e )
D) fow ® AR TH

LP-1/v13 23
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1(‘)}, Match List-I with List-11.

List-1 List-11
Application

(a) {izttt:ée (i) ]-Igﬂmwrctl into thin sheets -
() Ductile i) Makes a ringing sound when hit
() Malleable (iii)  Shine )
(d) Sonorous (iv) Drawninto W|r(_‘_5
TEr-1 -1 R gafaa s

-1 -1
(@ =T (TER) () et el SR S )
b) T (SRE) (i) THT R GTEARE S
(© omEdRg (Mfadew) @) w6 .
@ A () (iv) e AR o (TR aRETie)
Choose the most appropriate answer from the options given below :
A R T fasredi # & watf

i JuER I AT :
(A) ()~ (i), (b) - (i), () - (iv), (d) - (i) ()]
© (@)~ (i), (b) - (i), () - (), (d) - (i)

(E)  Question not attempted /3R 457
0%, A girl stands in front of a mirror and s

(a) - (i), (b) - (i), (c) - (1), (d) - ()
@) (@)- (i), (b) - (iv), (c) - (@), (d) - (iF)

ees that no matter where she stands, her image is always erect. The n
is likely to be:
(A)  Only plane (B) Either planeorconvex (C) Only concave
(D)  Only convex (E)  Questionnotattempted
TF ASH! TF T4 & 0 @S Bt & SR 7 Rt & .fF o e i @t & swen whif e wi o E
T HHAT® 10O
A) e T B) AW T IRAMITE () et SrET
(D) o 3Ta (B) STk
110.  Select the exotic species of earthworm used in vermicomposting.
(A)  Lampito mauritii (B)  Octochaetona serrata (©  Periyonyx excavatus
(D)  Eisenia fetida (E)  Questionmiotattempted
TR T Yg HYu ﬁ%&ﬁwﬁﬁrmwﬁl
(&) eI ARG ()  STRIRIT Haer © IR CFE
(D) gqf7ar wieer (B) ITEfE v
11}« Atwhich of the following places Telghani and small scale industries are found in Rajasthan due to highyi
mustard ?
(A)  Bundi (B) Bhilwara Bh
(D) Kota (B Questionnotattempted & Diatitom
TSTEAF H He] %1 SHfereh YTt o e i e Sei e 3§ R ol o
@ I3 @) i Q waR
D) == ()  STIaRy e
112. Constituents of a mixture can be separated by ~—~ method.
(Choose the most appropriate option frombelow) | ()
(A)  Physical (B)  Hoth electrochemical and physical
©  Chemical (D) ‘Electrochemical
(E)  Question notattempted CY)
T R T fafyy faftrdl gro gy fed snwa &)
(ﬁﬂnﬁmﬁwwﬁmqﬁ) iR
@A) ifew @) A vEEtTE sl sifaes Sy
© THERE (D), <Edq Tl
® FIg

@ p-1/Y13 24
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3

T

i3. A person can see objects put at different places by changing the focal length of the eye lens. This is enabled by 3

B A)) go;:}fa ®)  Iris B (©) Ciliary muscles
3 upi i >stion not attemptec ;
: -.g.?faamaaa%ﬁnﬁm@ﬁm(%mggém-m;ﬂ%’@gmﬁﬁa@m% E
L ) wEEd e L.
i Ay it @) omf (@] faferad graufaaEs
. O e B  sigaRa v
L:1‘.1/‘V\lhicl‘.l of lh(? ff!llowing industries uses limcslon'e_ as a raw material ? )
-7 (A Aluminium (B)  Cement (©) Plastic
(D)  Automobile (E)  Question notattempted
_t Wﬁﬁﬁm%ﬁw%mﬁww&mmﬁww%?
LA it ®) e © Twnfew
(D) IR () orafa v
2/ In which months the Abhaneri festival is organised by the tourist Department of Rajasthan ?
" () May-June

(B)  November - December (©  July-August
(D)  September - October

F (E)  Question notattempted

| TR e T g SR ewa fov W 4 s fa o 2

L@ wE-Sm B} TEER- g © e -
| O TR s ®)  gaiE v .

6. When was the “Rajasthan Film Tourism Promoti
¥ (Choose the most appropriate option from below[)‘fi—z_

(A) 15t April (B) 18t April © 10t April
D) 12th April (E)  Question notattempted
" e veed Weare Hifa 2022"" <hel el /AT 5 T 2
(F 4 & wafern g e ). L

on Policy 2022 launched/ promulgated ?

@) 15 T (). 18 3 © 10 3w

L D) 12 31k (E) guia 3w _

;':/Which of the following geographical _region.si-of:i{ajasman share its boundary with the state of Madhya
¢ Pradesh ?

5 (A)  Aravali Region (B)  South-Eastern Plateau region (C) Western Arid Region
. O)  Semi Arid Region (E)  Question notattempted :

| Frifafaa 4 | qoeem w R @ AiTifersh &5 STort S St He R A e w2

; ()  srrEeh dm B SRR-Te ver & © ot ywr &
D) sy A E) SHARA T

Who painted Ragmala Chitravali for the hero of Pali, Vitthaldas Champawat ?

I (A)  Artist Madho Das (B)  ArtistShiv Das (©  Artist Veerji

' O)  Artist Dana Bhati ()  Question notattempted

: hﬁw%wmw#mmmm?

| (A) e T 2 (B) R fora T (CQ arHR R S

D) FerER T W@ (B) STt uv

Inwhich year states startup Ranking of India, Rajasl'l'm:n appeared under Top Performer group among the following
Options ? (W

T 35 et 5 ey e T 3 o o 1 2 e Aot 8 v 2

@A) 2019 B) 2021 © 2017
D) 2018 (E)  Question not attempted/ 3Taftd w¥7

i

P1/v13 25
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rochloric acid (HCI) and concentrated Nitric a‘{ﬂ

{

4 ate Hyd
120. Aquaregiais a freshly prepared mixture of concentrate rly

. 3 :tfa'q'[ Agquar.
the ratio of ; . : 3:|-.-jq'|a‘f:’( ﬁ'{ﬂmm (Aquar,
T AR R U W T 3T @ | TS a7 1 I (R eg
] W € ? © 1:3
@Ay’ 3:1 (B)  3:2 A
O) 2:3 ().~ Question notattem P‘Cd/‘m .
121. The ‘state animals’ of Rajasthan are : _r ; Camel and Elephant
3 (A)  Chinkara and Sheep (B) thnklam and Camel " © :
(D)  Sheep and Camel () . Question notattemptec
TSEH & Ty ¥ p—
g . * T AR 741
@) faFmw sk @ e iR e ©
O WgIRIE () Tara g
122. Which of the following is known as the “Jallianwala Bagh” of Rajasthan ?
- (A)  Mandalgarh (B) Citra Mahal (©  Lohagarhfort
(D)  Mangarh Dham ()  Question not attempted
Fretfefad § | i Tsrem 1 Sferieren am”’ Feem § 2 )
(A) HeaTg ®) foon wew © wierTE fohen
@Y WETE UW (E) 3TIuia we
1}3. Which of the following is known to have chemical carcinogen ?
(A) Gamma-rays (B)  UV-rays © X-rays
(D) Tobacco smoke (E) " Question notattempted
Frefifaa & 4 ferer T o e W w2 2
@y T ). UV Rt (que fa) © T
(D) IS 1 g ®)~, SIRIIGRt G

124. Identify the heterogeneous mixture from thefollowing :

(A)  Sugar dissolved in water “—= (B)  Copper sulphate dissolved in water
(©) Saltand Sulphur == (D) Saltdissolved in water
(E)  Question notattempted

frafafen & & fauait fago s gfg .
(A) 9 H gt g8 =it (B) W H I N HIW e
(Cy T9F ARTEHT (D) 9T 8 Y g3 T
() FIaRa ¥
15;';. Which of the following is/are done to prevent rusting of iron ?
(@)  Coating of chromium on iron objects
(b)  Storing iron objects in water
()  Greasing of iron objects
(d)  Mixing iron with other elements to produce rust proof alloys
Choose the most appropriate answer from the options given below : '
(A)  (b)and (c) only (B)" ./(b)only : ©
(D)  (b),(c)and (d) only (E)-.._Question not attempted
frerferfea 4 4 o e =1 <im o @ T fr fa o R 2
(a) e A W A
(b)  ©e F At w1 e 1 e '
(€ @ F1 aegel W\ @

(¢ e 1 3wl & e firemat sin 1 eyt et (weita) faswrg wen
i fe o feredt 4 watfum soqem swgd

(2). (c) and () only

(4)  F (b) (<) 1) e (b) © ¥ (a), () 3R (d)|
() A (b), (c) R () () s W

&R p-1/v13 26 !

A __._"_-—.:_‘ i


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Large and bold designs and

GET IT ON
Google Play

1 iJatterns are printed in which of the following place of Raj_asthan ?
o (A; ?35;]“ o (B)  Churu ©  Jaipur
f 0 dodhpur . (E)  Question not attempted
mﬁ%ﬁﬂ%@ﬁﬁﬁﬁuwﬁm@aﬂxmm 3R Y Hfga fordt v €2
() R ® = G, g
g O ST B) i@ v
: 7, . Who founded the city of Ajmer?
: (A; Kl:grah,mj (‘B) PrithVifaj I (C) A rn()l'aj
© Jye (E)  Question not attempted
STSTHY Y& hT TTHT iy = 2 _
(A) fomeT ®) geERe © e
Dy AT B  srgafa e
28, The surface of some metals like Iron is corroded, when they are exposed to for a long period of time.
(A)  water and sunlight (B)  moistair (©  dryairand sunlight
D)  water ) (E)  Question not attempted <
| I Y S <lie i Waw ganfa (k) RN AR T AF o e v
- () T SRR e ® eraEn (@ _ 3 g i s e
O ® o _
29. Which one of the following is the ‘vision statement”of Royal Rajasthan Foundation ?
- (A) TheRoyals way (B) -—Aurat hai to Bharat hai
- (©  Royal Rajasthan Loyal Rajasthan (D) “Love Cricket Love India
- (E) Question notattempted =
: ﬁnﬁﬁﬁamﬁnm‘ﬁmw’wﬁ?
(A iy (B)  SiRel & T e &
(0. Ve T e TR 0, D) &R T e
() sHuRaywE '
"- Given below are two statements :
= Statement (M: In Rajasthan the construction of Bawaris was done for individual and social use.

*) Question notattempted.
3 T frg M #

W e (1) wer 8, farg T (11) I B

FU (1) o179 B, T e (11) T §)
HUT (1) 3w (11) 31 T §
'g) F (1) AR e (1) I IHA E |

- Statement (I):  The city of Bundi is known as the city of ste
- Inthe light of the above statements, choose the most approp
- (A)  Statement () is correct but Statement (II) is incorrect
%) Statement (1) is incorrect but Statement (II) is correct.
() Both Statement (I) and Statement (II) are correct.

- ) Both Statement (I) and Statement (II) are incorrect.

h YA ST ;

27

pwells due to the prominence of Bawaris there.
riate answer from the options given below:.

_mmu): uwmﬁmaﬁrﬁmﬁnfwaﬁwmqﬁﬁmﬁm@%ﬁmﬁmmw
B (1) ; T2 Wt 1 ol il arafedl F UgEd & Hro aEreEt F W & w9« S
SR Feri 3 i 1 Frfeiaa faeed 8 G waifies

P.T.O.
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31, Which of the following is the most ductile metal ?
‘W

Copper
Silver ®) Gold = o
(D)  Aluminium ) Question not attempted
Frrfiafim & 3 9 1w e 77 O /ducule metal) & ? o
©) THEEEm (E) SR
132.  Firstmajor irrigation project in India in which Sprinkler irrigation system has been made mandatory is:
(A)  Upper High Level Canal Project (B)  ParwanMajor Project ok
(©  Nokhila project ~ (D) Narmada Canal Project . ‘ 13!
(E)  Question notattempted ! ‘
mﬁmwmmwwmmm@nﬁa :
(A ST S e e (B) e R Ui &
© ifEen RS O) e TR e :
B IaRa v
133. The portion of agriculture produce which is sold in the market by the farmer is called
(A) Marketed surplus (B) Subsistence produce (©) Finalgoods
(D) Intermediate goods (E)  Questionnotattempted
q:hmmagwmﬁﬁ:mmwﬁ&mm%m%
&) Tam s _)" - faie 3w © = Wl
D) TEEE WEd (E)— ARG W
13} Which among the following places was ﬁot a centre of the revolution of 1857 ?
(A)  Ajmer B)-- * Jaipur Auwa
(D) Neemuch (E)~ - Questionnot attempted
Trefefd # | 17 B T 1857 H Fifa-H 6= T 412 c(‘)’(
(A) IR (B) SER SURC)
D) W= E) SIEETH
b
1357 InMicelle formation, hydrocarbontailis . . e
(Choose the most appropriate option from below) = a
(A) Variable (B) Towards any side (© Outward
(D) Inward (E)  Question notattempted
e 7129 1 TesieEd YT ©

|
(7= 1 | watfues sugaa foes T)
(A) e (B)' et ot i
(D) &l

© O/ aRTH AR
fﬂjditdm

13}

The first attempt to provide a quanmatwe hw concerning the trophic levels in a commu nity was given by
ecologist .

(A) RobertOdum (1971) (B) I’eler Luulem*mn (1918)
(D) Charles Elton (1927)

(©) Raymond Lindeman (1
(B)  Questionnot attempted
mmﬁmwmwuﬂwwﬁmmmmmm ammmm
g feman =)
a) T FHreq (1971) B)¢ rﬂa mﬁ"‘ (1918) © Tisfaitz)
() = T (1927) B ST T
@y p-1/Y13 &

-
AP AT Ly
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-4
h

; ; i ?
A)  South-Easte ted in which of the following physiographic regions of Rajasthan ?
((_] Waester ﬂf{t.rn PIal'e.au region (B)  Aravaliregion
© L. N desert plaing region (D)  Eastern plains region
(E)  Question not attempted o
T &% . : :
HE Y - 3W%ﬁmaﬂ(agﬁq‘ﬁlf§ﬂfwa%?
(A)/ foit-Tai war @  Sitah
QIR T e g D) et diar A
(B) STIuRa wey :
138. Tooth enamel is made up of
N Calc?um Sulphate —__-_—_-EB) Calcium Chloride (©  Calcium Carbonate
([_)) Calcium Phosphate (E)  Question notattempted
A T AN S |
h'_____'_———-_.
@) e T ®) e weiREe @ © feem FrEgg A
D), Sfeerm wiehy € ey ™ \6
hd 2 - /‘
L3} How many of the follov.vlng fo.rts did Rana Kumbha built in the Mewar Kingdom ? \ ,9;/\ 4
wm%ﬂmwﬁﬁmﬁ@mﬁﬁﬁW? g,V
(& 82 ®) 34 © 28 s¥
D) 30 E) Question not attempted / 3TRA Y& ~ <J
[g/ Two bulbs are rated as 80 W, 220 Vand 120 W, 220 eresls_:ectively The ratio of their resistance is ?\, ‘§
A AT B0W, 220V sl 120 W, 220V%ﬁmﬁ’{aﬁmm{%aa={%mﬁma@m%: ﬁ
A) 1:2 B 288 = © 3:2 - ‘bD
D) - 2:3 (®)  Question riot attempted / 3TxRa 7w
l-il.( Our body works within the pH range of : i ‘ ) 'Z’E
L “(A) 9.0t0102 B) 40tods ©  55t065 -7 %
I O 70to78 (E)  Questionnotattempted
| TR AR R @ = (pH) I (30h) # wm w2 = j'pa
L @A) 90d 102 (B) 40948 © 55¥65 @7 b
I D 70¥78 (€) STIaRa v

14% How many of the following Karkhana (factories ) established by SawaiJ
T Srafdg 3 9 sam @ wefia Fre § @ faa e el e ?

Ay 34 (B) 36 - ©
D) 132 (E) Questionnot attempted/ aﬂﬂﬁﬁ qH

Holstein-Friesian
Question not attempted

(B)
(E)

- ]ersey
) Brown-Swiss

©

N ®) Eeadn-fefae ©
) - |, , ARG

ai Singh associatéd with textiles ?

30

i43; Indian Prime Minister participated in the fourth Quad Summit in May 2022, which was held in:

Brazil

Arsiter |

(A)_ Japan (B) Afghalnistan ©

D) Norway (E) Questmn:n__qot attempted '

SR g wé 2022 # S =9 @S (Quad)ﬁ@mﬁ v e, o s gom e ;
®) e B) SRR A ©

) (B)  SrTafa e

84 1 India which exotic breed of cattle has been used in érosébreenlitlg programs from Netherland ?

Red-Dane

mﬁmgmwmﬁﬁaﬁﬁﬂﬁMﬁ&ﬁwmwmw%?

ATA-T1 (Red-Dane)

P.T.O.
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14F. Tooth decay starts in our mouth when pH of the mouth is lower than

TR e A Fal 1 TS T F Bt & T G B UH (pH) A FH S @ :
© 5.5

() 10 ® 7.0
(D) 3.5 () Question not allcmpled/aﬁﬂﬁﬂ a7

14?7 According to Sustainable Development Goal which goal is to promote safe and secure working environment for
all women and men by 2030 ? L f
(A)  Decent work and Economic Growth ‘(B) LifeonLand o
(© Industry, Innovationand Infrastructure (D)  Sustainable cities and communities :
(E)  Question notattempted a';,‘ ;
mmw%mmmawzmowwmﬁﬁzgﬁﬁ%ﬁuﬁfﬂﬂaﬂ?“‘ﬁﬁm T
@) a1 7 i i fopra :(B) ST TR S

© UM, TEER IR iR e
E) IR T

Which of the following saint is also called as environmentalist due to his attachment to the environment ?
- (© Dhanna

]43,
(A)  Jambhoji (B)  Jasnathji
(D) Pipa (E)  Question notattempted
Frefated 3 4 frg Ha =t watawor & ufa o & SHren gty it S o 8 2
(A) St B) SRS ©
@), = ® S
in Rajasthan.

148 “Saheliyon Ki Bari”, a garden for the ladies was bul.lt'by
(A) Maharaja Sawai Jai Singh IT (B) # King Machkund
(© Diwan Hindumal D) =1W.'alu:u‘au1a Sangram Singh IT

(E) Question not attempted

TSy ¥ Higensdi & fag ' wrferdl &t aret’ sam o= BRI ST T4 |
(A) TS AR 4 g 11 (B) L IS A=FTS

© fam fégaa (D) =~ Hewon "u fie 1

(E) HardgH

149" Regur Soil is found in which of the following in India ?
(A) Deccan Plateau (B) Indian Island group
(©  Northern Plain (D) Himalayan Region
(E)  Question notattempted

frefafad § 4 yra & fag M 8§ TR 931 it 9w § 2

(A) TFAF TR (B) R g W
(¥ =aiHEA () femrer &
(B THRd T o
What are Pateliya, Bichniyon and Lapar ?
( A)" I Folk Dania (B) Playing instruments (© Folk Songs
(D)  Folk Dance (E)  Question notattemp ted
qﬁﬁ[zn' farfigdr iR e 2 & ? r L
- @B aEmEI’ Qs F g
B)  Sra W
-00o0-
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